Cell References
 
[bookmark: relative-reference]Relative Reference
By default, Excel uses relative references. See the formula in cell D2 below. Cell D2 references (points to) cell B2 and cell C2. Both references are relative.
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1. Select cell D2, click on the lower right corner of cell D2 and drag it down to cell D5.
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Cell D3 references cell B3 and cell C3. Cell D4 references cell B4 and cell C4. Cell DS references

cell BS and cell C5. In other words: each cell references its two neighbors on the left.
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Absolute Reference
See the formula in cell E3 below:

1.7To creste n sbsolute reference to cell 43, place 3 § symbol in front of the column letter and
row number (SHS3) in the formula of cell £3,

COUNTIF  ~ X « f | =B3'$HS3
Al s c |o e £ S
1
2 Length (cm) |Width (cm)  Length (inch) |Width (inch)  Conversion rate
3] 1 10 [marsus [oasamos |
a 3| 10
5] 4 s
5 B 10
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2. Now we can quickly drag this formula to the other cells

couNTF ~ X v f | <cesus3
A 5 c |»p 3 3 s | 1
1
2 Length (cm)|Width(cm)  Length (inch) [Width (inch) _Conversionrate
3] 1 10 03937008 3937008 | o3sa7o0s |
4] 5 10 1968504 3.937008
s 4 15748032 3.1496064
6| 2l 0.7874016[=C55+53
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The reference to cell K3 is fixed (when we drag the formula down and across). As 3 result, the
correct lengths and widths in inches are calculated.
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Mixed Reference
‘Sometimes we need a combination of relative and absolute reference (mixed reference).

1. See the formula in cell F2 below.

COUNTIF  ~ x v £ | =s2v(1-86)

A 5 [ c o e © H
1 Product |price Prices / Month [1an Feb Mar
2[ieans | 0] Jeans [e2v1-80) |
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2.We want to copy this formua to the other cells quickly. Drag cellF2 across one cel, and look at
the formula in cell G2

COUNTIF  ~ x v £ | =c2v1ce)
A 8 [c o e £
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6 [Reduction| 20%] _a0%] 0%

7




image5.png
Do you see what happens? The reference to the price should be a fixed reference to column B.
Solution: place 2 § symbol in front of the column letter (§82) in the formula of cell F2.In a similar
way, when we drag cell ?2 down, the reference to the reduction should be a fixed reference to
row 6. Solution: place a § symbol in front of the row number (836) in the formula of cell F2.

Result:
COUNTIF  ~ x £ | =sB2*(1-BS5)
A 8 [ c o 3 s H
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Note: we don't place a § symbol in front of the row number of $82 (this way we allow the
reference to change from $82 (leans) to $83 (Shirts) when we drag the formulz down). In @ similar
way, we don't place a § symbol in front of the column letter of BS6 (this way we allow the
reference to change from 856 (12n) to CS6 (Feb) and DS6 (Mar) when we drag the formula

across).
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3. Now we can quickly drag this formula to the other cells.
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